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Lowering and Lifting a load
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Lifting
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Lowering
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A square-thread power screw has a major diameter of 32 mm and a 
pitch of 4mm with double threads. Assume friction coefficient to be f 
= 0.08, d = 40 mm, and F = 6.4kN per screw. Compute the following

Thread depth, thread width, pitch diameter, minor diameter, and 
lead

a)

Torque needed to raise and lower the loadb)
Efficiency for lifting the loadc)
Body stresses, namely the torsional and compressived)
Bearing stresses on the first threade)
Von-Mises stress at the critical stress element where the root of 
the first thread interfaces with the screw body

f)

Q1
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